
,
octet,

4101 = 0

⑦ ¥1T) I "tt+k[' provided his small

→ to --0, ti = 1st
, tz = 21St

,
r r -

, tf = n Dt

Dt : time step

"i = 11 (ti )

f- ⑦

fwmeguatw.no#:

¥1T,
I = g - Cd ✗ It, )2

die

F- lte )
= g - Cd " ltzs

'

!

÷ (tna) = g- Cd ✗ Itn -e)
2



general i, i = 1,2, - - , n - l vii. = ✗ Iti )

⇒ It:/ I tti , = g- Cmd ✗Hit

⇒ "i+i,_ = g- ¥ "it

✓④
vi. * * • - ÷ ."

Nti ) = Vci-1 )

✓ V2 = 11
,
1- Atl g- ¥ v.2)

•

✗ fi-112 )

:



FWrsinihumvicalsimulatio.nl
lil finite capacity of computes in representing number

✓ Iiit discretization error, truncation error , numerical euros

x,v (iii. modeling error

B_ →
"

All models are wrong. but some

are useful
"

✗
/
✓ 4" ' uncertainty/ observation error/ experimental error in data

Precision : Ai
,

i = 1
,

r - r

, n

(q - ai ) i ( as - a# - - ⇒ Can.• - an - 1)

Accuracy: if suppose, I know true value a
,

then

a - ai



T
*.÷÷÷÷÷É
Defiwtinyerros:

Tweety : Applicable only if you know the true value

( Time value - Approximate value)Et =

"
the

= 10 M 's
"
time = 10000 Mls

Yapp = 9 Mls uapph.me 9999 m/s

"

z, , ,myEt =
' m
's



et = quaahe ✗ 100 %es
et = 101° et = 0.01 %

-

Present approximate value
Ea =

-Previ#appwnimteahe ✗ 100%

Present approve .
real .


